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"#$%&''&%()#	*+,- .#(%	)/	0-&$12- 3&,&4(%+56')72&%-	89: .$-6&4%)2	8;: 6(<-=	1$-8'(%2-$5,-2$)#5=&+:	8>: ?(%2-$5,-2$)#5=&+	@	A89:<8;:B	C	8>:	8D:E3	FGHIJKL	MKNGOP QKNGO	RSKNTL	FKHUVLGP WXWY ZXZZ ZE3	F[N\K	MKNGOP QNKK	MKNGO	RSKNTLFKHUVLGP ] X̂W] ZXZZ _X̀]a\VU	MKNGO	RSKNTLFKHUVLGP W YXb] ZXZZ ^̂ X_WE3	FTNKUHcKL	MHUUHIJGP deLV\JL	LMMLfUHeL		MKNGOHIJ	RSKNTL		FKHUVLGP WXWY ZXZZ Z*&,$	FLgfKN[HIJ	hHUfOLIiNUHKHUjVSST	U\cGP QKSk	V\UL	FKHUVLGiTHIPWXZZ X̂l_ X̂l_ X̀bZm&%n	FkOLVL	GOSkLV	\KGScVLGLIUP o\c\fHUj	USSeLVMKSkFKHUVLGP _̂ZXZZ ZX̂^ ZXZZ b̂X_Zpn)7-2	FkOLVL	q\UO	\KGScVLGLIUP QKSk	r\ULFKHUVLG	iTHINULP ]XZZ WXs̀ ZXZZ Y]XYYm&%n	t#'+ o\c\fHUj	USSeLVMKSkFKHUVLGP ZXlZ ZXZZ Zpn)7-2	t#'+ QKSk	r\ULFKHUVLGiTHINULP lX]Z ZXZZ Zu(%4n-#5.%('(%+	2))v	$(#w%&,$ QKSk	V\ULFKHUVLGiTHINULP ]XZZ ZXWW ẐXs] ŝXZZE&$n(#x	0&4n(#- FyHUVLGihJ	[Vj	KS\[P lXlZ YX̂ ZXZZ ^̂ Xllz($n7&$n-2 FyHUVLGicK\fL	GLUUHIJP X̂ZZ sX] ZXZZ sX]ZE&$%-	=($,)$&'	1#(% FyHUVLGiNGLP aVLGLIU sXZ_ ZXZZ ZE&%-2	p)/%-#-2 FyHUVLGicLVGSIi[\jP X̂ZZ ZXZZ ZFlP {SU\K	o\KfNK\UL[	NGL	FKHUVLGicLVGSIi[\jP	|}~�FfSKNTI	WP ẐYX]̀F]P oSIUVHqNUHSI	MVST	JVLjk\ULV		FKHUVLGicLVGSIi[\jP	 ZF̀P oSIUVHqNUHSI	MVST	V\HIk\ULV		FKHUVLGicLVGSIi[\jP	 ZF_P �SVT\KHG\UHSI	M\fUSV ZXb̂FbP {SU\K	HIULVI\K	k\ULV	fSIGNTcUHSI		|	�FlP�F]P�F̀P�gF_P		FKHUVLGicLVGSIi[\jP bsXWsF̂ZP �gULVI\K	k\ULV	NGL lXZF̂ P̂ {SU\K	k\ULV	fSIGNTcUHSI	F�NHK[HIJ	rLJNK\UHSI	̂ X̀�P		|FbP�F̂ZPFKHUVLGicLVGSIi[\jP b_XW"#$%&''&%()#	*+,- 0&w-50)=-'	8v&#=&%)2+: ?(%2-$5�-2$)#5z&+�o	F[N\K	MKNGOP oNqL	]iW	KHUVL	e\KeL	fHGULVIX	�V	\KULVI\UHeL	US	fSTcKjYZX]{\cG �\UOVSST	{\cG	~r�d�	o	̂ZZŶ lsbsX	�V	\KULVI\UHeLUS	fSTcKj X̀bZ�\UOG	FGOSkLVFGP	cVLGLIUP �[L\K	GU\I[\V[	US	fSTcKj	kHUO	U\VJLU b̂X_Z}OSkLVG	Fq\UOFGP	cVLGLIUP �[L\K	GU\I[\V[	US	fSTcKj	kHUO	U\VJLU Y]XYY�HUfOLI	{\cG �K\IfS	�S[LVI	�HUfOLI	{\c	rLJLIU	oOVSTL	�fS	]	�V\KULVI\UHeL	US	fSTcKj ŝXZZ�\GOHIJ	�\fOHILG }\TGNIJ	�QZ_ZW�_�	�V	\KULVI\UHeL	US	fSTcKj ^̂ Xll�HGOk\GOLV �SGfO	}�}WZoZY��	�V	\KULVI\UHeL	US	fSTcKj sX]Z	��rf	cKf	YZYZ*-2v$	&#=	3)#=(%()#$	p+$%-v	�-�1(2-v-#%$


